Year 3&4 Homework – Week 5
**Homework is due in on every Tuesday, please complete it in your red homework books and hand it in on time. **
YEAR 3 and 4 MATHS: 
In Maths this week, Year 3 and 4 have been learning about negative numbers. Please complete the questions in the pages below. Feel free to challenge yourself and attempt the trickier questions
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1. Match the temperatures fo the thermometers.
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2. Danny the diver wants 1o reach the freasure. He dives down 3 metres. How much
further does he need fo go fo reach the fop of the reasure chest?
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3. Elliotis counting backwards.

When | count back in 1s from -4, 1 will
say 0.

Is he correct? Explain how you know.

¥





image2.png
4. Match the temperatures fo the thermometers.
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5. Diego the diver wanis fo reach the reasure. He dives down 8 mefres. How much
further does he need fo go fo reach the fop of the freasure chest?

6. Suzle Is counting backwards.

When | count back in 5s from 25, 1 will
say -10.

s she correct? Explain how you know.
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7. Match the temperatures fo the thermormeters.
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8. Dominic the diver wans fo reach the freasure. He dives down 11 meres. How much
further does he need fo go fo reach the fop of the freasure chest?

9. Wendy is counting forwards.

When | count forwards in 4s from -16, |
will say -2.
&
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s she correct? Explain how you know.
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Working with Negative Numbers
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